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2 B BHE K#SC 4 15.14 21 1618[/MIl #H1L KA 4 15.40
3 HE B3 JXEAC 4 15.15 3] 1701|865k =X JACRE 4 15.42
4 FE BEE FAJ—hrFrv bk 4 15.18 B 4] 1203[rH —F HEAC 4 15.70
5 JIBs EBEAE T BFKSRC 4 15.52 03[ 5[] 1120|meE ZEN EhxFyv S 4 15.84
6 HE & HRJ 4 15.75 m| 6] 1228|#% s 10015 v&5 Y 4 15.96
7 e B WHY 1=7 4 16.01 7] _1701Ex E&E JACRHE 4 16.40
8 FE I JRXEAC 4 16.18 8] 1104|==¢ @EEH BEEXEY ST 4 16.43
3] 1 xE = JRCHIE 5 4 16.09 41 1 1228|HIJIl &N 10015 v&5V 4 16.63
2 BEEH @ KE =57 () 4 16.29 21 1228|E% EiER 10015 V&5V 4 16.77
3 R Hh— @75 ARy A—X 4 16.42 3| 1228|FEH EEA 10015 V&5~ 4 16.78
B 4 tH #BZF =B EI57 () 4 16.64 Al 4] 1615|8%K BX JRCH(E 5 4 17.20
.0 5 I KBREm 4 16.73 14 5[ 1301[ZEH B JOXEAC 4 17.37
m| 6 INHER BA |BEE— 4 16.74 m| 6] 1301|IlL&K 3 JXEAC 4 17.40
7 i KH JOXEAC 4 16.80 7] 1311|f8H X#&t 3T BFKSRC 4 17.47
4h EBA Al 4 DNS 8] 2606|FH K3 RS — 4 17.92
b 1 N BB Sfrhn—F*>s 4 16.24 6| 1] 2604|hE HE Sft-Ho—Kxvs7 4 16.52
2 et A— JRCH (F 5 4 16.47 2| _16514|4xH #X SH B ERC 4 17.00
3 L% B3 FEHERE 4 16.88 3] 919104y FE= ==BEts57 () 4 17.07
4 PN JACRHE 4 16.89 B 4] 1201[FE4XE EE WH a1=7 4 17.27
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7 2 X EEE_ 4 18.75 7] 1228|ILA R 10015 v&5 Y 4 20.59
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2 N PN 10015 &5y 4 8.51
3 RHE X 10015 &5 4 9.13
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191 5 mE =¥ EEE_ 4 20.10
m{ 6 Al tAYE |EEHE— 4 20.14
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2 fEESS T 3 16.32 2] 61901|Kea HEH =HO1=7 () 3 16.77
3 SuE—mr4 () 3 16.43 3] 61901 EARE =k [z#m>a=7 & 3 17.38
&l 4 SuE—r4 () 3 16.44 B 4] 91910[3H BH/E =R ty57 (=) 3 17.44
04 5 SLE—vz4 () 3 16.45 1.6] 5] 1301[IE BH JOXEAC 3 17.47
m|[ 6 Ba R#C1=7 GO 3 16.53 m{_ 6] 91303|:&& & srx—mz4 (B 3 17.60
7 B 2HUa=7 G 3 17.40 71 91910[{#8& FH7FI =R ty57 (=) 3 17.70
8 L WHY21=7 1 22.05 8] 1605 I8E =3F FA)—hrxv bk 3 17.91
3] 1 ETN 217 G 3 16.99 4] 1] 91910|Fbk B =57 () 2 17.76
2 i RAZESRC 3 17.32 2| 1819|#MMFt #E NWEES ST 2 18.57
3 BE £ KZESRC 3 17.71 3] 91910(=¢ 2 =£REy57 () 2 18.60
4 BE FECIVEFEE 17.75 B 4] 1301|Xxdt KA JOXEAC 2 18.61
5 HE R AZESRC 3 17.86 1.3[ 6] 1104[& #x EEESY ST 2 19.20
6 HOX |[=Z£Btr57 (&) 3 18.04 m| 6] 1120[F0H %= ELFEDFEE 19.50
7 I 2T EFKSRC 3 18.13 71 1217|He 78 F*AAC 3 19.91
8 BHE NEFS ST 3 9.17.70 1120{#0H 34 EhxFyv S 3 DNS
b 1 BA R RBEHCL1=7 (R) 3 17.86 6] 1 1705|X HH Ry S Ak k—Z 3 18.49
2 FTy =BT () 2 18.54 2] 61916|MTAR  ILE EERE— GO 3 18.85
3 2HUa=7 G 3 18.83 3] 1301 EH aOXEAC 2 19.19
El 4 ==FEEr57 (5 3 19.26 Bl 4] 61901 HERE B |[m#Hva=7 GO 2 19.43
03[ 5 RIZHJAC 1 19.63 1 5| 91910|R4T  #EF0 =£pEy57 (=) 3 19.64
m| 6 =EEEI5T () 2 19.90 m| 6] 1311|=@F B 3T BFKSRC 2 19.75
7 WHY 1=7 3 20.41 71 91910| LR EF =R ts57 (=) 3 20.05
8l 12011FH U5 KA 2=7 1 20.32
71 1 T BFKSRC 3 19.26 8] 1] 91910[;Ie 45 =R () 3 19.69
2 HRJ 3 19.28 2| 13115 INE X BKSRC 3 19.76
3 =EREEII7 () 2 19.45 3] 61916[BE T H B¥mE_ (R) 2 20.44
B 4 R KZESRC 3 20.18 A 4] 91910 %8 AF =£pEty57 (=) 3 20.45
05 5 =EREES57 () 3 20.18 0.7 b 91910t AHFESX [=Z£Bti57 () 2 21.61
m|_6 KA 21=7 1 20.22 m|[ 6] 61901 |FHE #HF EHOA=T () 2 21.81
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JXEAC 2 DNS 1311[78J1 &0t 2T BKSRC 1 DNS




KPR 5 3[AEE K2 RESULT20160611

= F—TF U BFQ@EELUT) 100m
FERE
E-EEEE= K £ e IR 2 [ ] = K % Bil=Ea EIIEEE
T 1]91303[kH BE SLE—vT4 () 3 16.19 20 1] 1120|=F%& & ELFEDFEK 17.01
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